
Economics 3250 Dr. Lozada
Spring 2014 Final Exam

This exam has 50 points. There are ten questions on the
exam, worth 5 points each.

Put your answers to the exam in a blue book or on blank
sheets of paper.

You have until 12:30pm to take this test.
Answer the questions using as much precision and detail

as the time allows. Correct answers which are unsupported
by explanations will not be awarded points.



Answer all of the following ten questions.

1. [5 points] Define Kenneth Boulding’s “Spaceship Earth” anal-
ogy and discuss its implications.

2. [5 points] How would the “Deep Ecology” school define the
moral reference class?

3. [5 points] Under what circumstances might Contingent Valua-
tion:

(a) Overstate willingness to pay?

(b) Understate willingness to pay?

4. [5 points] Discuss the “substitute sites” difficulty with the
Travel Cost Method.

5. [5 points] Public goods are said to be neither “exclusive” nor
“rival.” Give an example of a public good and explain why it is
neither “exclusive” nor “rival.”

6. [5 points] Discuss the relationship between:

(a) “tradable permits” in environmental economics; and

(b) “individual transferable quotas” in natural resource econom-
ics.

7. [5 points] Is the McKelvey Box primarily “Ricardian” or “Malthu-
sian”? Why?

8. [5 points] Your textbook has a table which includes the follow-
ing:

Deaths per
million people

exposed
Radionulcides in drinking water 6,300
Benzene occupational exposure 39,600
Acrylonitrile occupational exposure 42,300
Arsenic/copper exposure 63,000

Does it follow that society’s first priority, from among these four
hazards, should be to take measures reducing “arsenic/copper
exposure”? Why or why not?
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9. [5 points] An April 2014 posting on the web site of the U.S.’s
“National Aeronautics and Space Administration” (NASA) (http:
//climate.nasa.gov/400ppmquotes/) states in part:

The global concentration of carbon dioxide in the atmosphere—
the primary driver of recent climate change—has reached 400
parts per million (ppm) for the first time in recorded history, ac-
cording to data from the Mauna Loa Observatory in Hawaii.

Since 1958, the Mauna Loa Observatory has been gathering
data on how much carbon dioxide is in the atmosphere. Carbon
dioxide has increased by about 24 percent since the beginning of
this record. (Source: NOAA)

We rounded up a few scientists here at NASA and asked them
what passing 400 ppm means to them.

[. . . ]

“Current [atmospheric] CO2 values are more than
100 ppm higher than at any time in the last one mil-
lion years (and maybe higher than any time in the last
25 million years). This new record represents an increase
of 85 ppm in the 55 years since David Keeling began
making measurements at Mauna Loa. Even more dis-
turbing than the magnitude of this change is the fact
that the rate of CO2 accumulation in the atmosphere
has been steadily increasing over the last few decades,
meaning that future increases will happen faster. When
averaged over 55 years, the increase has been about 1.55
ppm CO2 per year. However, the most recent data sug-
gest that the annual increase is more than 2.75 ppm CO2

per year.
“These increases in atmospheric CO2 are causing real,

significant changes in the Earth system now, not in some
distant future climate, and will continue to be felt for
centuries to come. We can study these impacts to bet-
ter understand the way the Earth will respond to fu-
ture changes, but unless serious actions are taken im-
mediately, we risk the next threshold being a point of
no return in mankind’s unintended global-scale geoengi-
neering experiment.” –Dr. Charles Miller, Researcher
specializing in the remote sensing of carbon dioxide and
other greenhouse gases; Principal investigator, Carbon
in Arctic Reservoirs Vulnerability Experiment (CARVE)
mission
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Discuss how effective the Kyoto Protocol has been in light of this
news, and how the rate of CO2 emissions would need to change
in order to eliminate this problem.

10. [5 points] Figure 1 shows an excerpt from a recent article about
the “First Sulfur Protocol” (more formally known as the “1985
Helsinki Protocol”) and the “Second Sulfur Protocol” (more for-
mally known as the “1994 Oslo Protocol”). “Signatories” means
countries who signed and ratified the protocols; “controls” means
countries who did not sign the protocols.

Defend or attack the proposition that these Protocols were and
are a success. Be sure you define which environmental problem
these Protocols address.
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